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Section type : Online
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Number of Questions : 21
Number of Questions to be attempted : 21

Section Marks : 25

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 789484255
Question Shuffling Allowed : No

Question Id : 7894846947 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (1 to 5)

1-5

Read the passage carefully and mark the correct answers for the questions that
follow:

My father’s family is not a musical family. They are a family of words. a family
that thrives on long discussions. Sunday crossword puzzles and puns. My brother has
my father’s dark hair. his love of a good argument and his mecisive wit. I take after my
mother. From her I inherited a curious nature. a sense of adventure and bright red hair.
I did not. contrary to her hopes. inherit a talent for the piano. That fact was established
beyond doubt after prolonged and futile attempts to draw music from me.

The piano lessons began when I was four. My mother was convinced that I
would be a child prodigy. one of the rare. startling creatures who sits down at the piano
tor the first time and discovers how to make the piano sing. She had made some phone
calls and found the i1deal teacher to nurture such a prodigy — Madame Oblenka. a stern
Russian women. Madam Oblenka. who expected a little Mozart. was not overly

delighted to find herself saddled with a little girl banging her fists on the keys.

Sub questions

Question Number : 1 Question Id : 7894846948 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to the passage. which of these statements 1s NOT true?

Options :



The narrator’s family loves lengthy discussions.

The narrator’s fanuly is witty:.

2.
- The narrator’s family enjoys music
The narrator’s family loves the Sunday crossword puzzles.
4,

Question Number : 2 Question Id : 7894846949 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of these qualities did the narrator’s mother have ?
Options :

. musical talent
1.

love for crossword puzzles

razor-sharp wit

4% dark hair

Question Number : 3 Question Id : 7894846950 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How old was the narrator when music lessons began?

Options :
2 years

14 years

3 % 6 years



4 years
4.

Question Number : 4 Question Id : 7894846951 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What was firmly established about the narrator?

Options :

% The narrator was a child prodigy.

The narrator had no musical talent.
2.9

The narrator was excellent at words.

The narrator knew how to make the piano sing.

Question Number : 5 Question Id : 7894846952 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The ‘I’ in the passage refers to
Options :

- the father

the mother

2.
s ox @ little boy

a little girl
4.
Sub-Section Number : 2
Sub-Section Id : 789484256
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 7894846953 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify which part of the sentence i1s grammatically incorrect.
Options :

| w Ifwe

exercise regularly.
2. %

, w We will be

more healthier.

Question Number : 7 Question Id : 7894846954 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the gramunatically incorrect sentence.

Options :
. If you are not regular. you face difficulties.
) If you are not regular, you may face difficulties.
If you are not regular. you will face difficulties.
. If vou are not regular, vou might face difficulties,
4,

Question Number : 8 Question Id : 7894846955 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically correct sentence.
Options :

. She will not be happy unless her friends do not help her.
1.



She will not be happy unless her friends help her.
2.¥

She will not be happy unless her friends will not help her.

She will not be happy unless her friends will help her.
4. %

Question Number : 9 Question Id : 7894846956 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the sentence using appropriate auxiliary verbs.
If you see clearly. then vou wear spectacles.

Options :

can. must

need. used

can’t, must

may. will

Question Number : 10 Question Id : 7894846957 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the sentence using appropriate tense.
Yesterday, he from his official trip to Dellu

Options :

refurns

returnad



has returned

4 % was returned

Question Number : 11 Question Id : 7894846958 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the following using suitable prepositions.
His daughter was born 12 midnight 14 August 1947,

Options :

- at. on. i

at. of. in

at. from. during

at. at. in

Question Number : 12 Question Id : 7894846959 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the incorrect use of preposition.

Options :

The loud noise prevented him to sleep.
1LY

She 1s planning to take a one year course in Japanese.
2. %

We arrived at her house and knocked on the door.

The TV campaign is aimed at the 16-24 age group.
4. %



Question Number : 13 Question Id : 7894846960 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which 1s a synonym of the word “MOMENTOUS™?

Options :

1 trivial
historic
frightening

3. %

MOVIIg

Question Number : 14 Question Id : 7894846961 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which is an antonym of the word “DILIGENT™?
Options :

hardworking

industrions

3 v

productive
4. %

Question Number : 15 Question Id : 7894846962 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the pair which are NOT synonvms of each other.



Options :

happy-elated

1. ®
commonplace -boring
2. %
3 % stupid-dumb
adversary-supporter
4.9

Question Number : 16 Question Id : 7894846963 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify the misspelt word.
Options :
occassion

1LY

acknowledgement

2.

receive
3.

pronunciation
4.

Question Number : 17 Question Id : 7894846964 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the correctly spelt word.

Options :

acquaintence
1. ®

acquaintance
2. ¢



acquintence
3. %

EC(]“"EIITE nce
4. %

Question Number : 18 Question Id : 7894846965 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of these can be used as a prefix to the word “"ACTIVE™?

Options :

¢ UN
, % DIS
MICRO
3.
HYPER
4.9

Question Number : 19 Question Id : 7894846966 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which suftfix can be added to the word “PRESENT™?
Options :
MENT

1. ®
IBLE

ABLE

LESS



Question Number : 20 Question Id : 7894846967 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Complete the sentence using appropriate articles .
I opened door and found old man waring dhoti standing
before me.

Options :

the. the. a

a. an. the
2. ®

the. an. a

a. an. the

Question Number : 21 Question Id : 7894846968 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the sentence with the correct article use.
Options :

He 1s the best player in the team.
1. ¢

. Do vou play the football?
2.

I have an urgent business.
3. %

The gold 1s precious metal.

Question Number : 22 Question Id : 7894846969 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the appropriate tag.
It hasn’t ramed since morning. ?
Options :
e
| s lsmitite

has 1t ?
2.¢

hasn'tit ?

dad 1t?

Question Number : 23 Question Id : 7894846970 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Change the following to Direct Speech.
They said they were exercising every day.
Options :
They say. “We were exercising every day”.
1. ®

They said. “We are exercising every day”.
2. ¢

They said. “They are exercising every day’.
3. %

They said. “We exercise every day”.
4. %

Question Number : 24 Question Id : 7894846971 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Change the following into Passive Voice.
They conducted gender traning in six villages.

Options :



Gender training is conducted 1n six villages.

Gender training has been conducted 1n six villages.
2. %

Gender training had been conducted by them in six villages.
3. %

Gender training was conducted in six villages.
4.9

Question Number : 25 Question Id : 7894846972 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Rewrite the sentence without changing the meaning.
I did not invite him. still he came to my party.

Options :

As T did not nvite him. but he came to my party.
1. ®

Because I did not nvite him. so he came to my party.
2.

He came to my party though I did not invite him.
3.¢

However I did not invite him, yet he came to my party.
4, %

General Knowledge

Section Id : 789484210
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15

Mark As Answered Required? : Yes



Sub-Section Number : 1
Sub-Section Id : 789484257
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 7894846973 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Jaya Arunachalam. who died recently. 1s associated with one of the following

=558 L8808 =oir eoheardeo, & Sordd 0D a’aqu

Options :
Painting

| 2ono®oh

Self Help Group Movement
2yoho B5FAhE Hosre &igino

2.9

Dancing
3 ® e€50

Chemical Industry
4% Barchsd H8|Eshen

Question Number : 27 Question Id : 7894846974 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Viveka Deepini is authored by
DL HBY BDoDS B

Options :

Abdul Kalam

@epes Eewo
1. #® L2

Venkaiah Naidu

Boécjj:g Jea0i
2.

Dasarathi

3 # il telR)



Yandamuri V:::*erendranmh
ahoésrd HBoh

Question Number : 28 Question Id : 7894846975 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The range of ASTRA 1s
o, 858 H8H

Options :

% SOKM
70 KM

2. %

3 % 90 KM
100 KM

4. ®

Question Number : 29 Question Id : 7894846976 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PONUNG DOMING 1s associated with
§8:500h &%uoh B2 Honofodd =%

Options :

Army

o
v B0

Science

29
2. ® 5

Culture

T et E
3. % @



Sports
B&en

4. %

Question Number : 30 Question Id : 7894846977 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Recently International Astronomical Union has approved the name of a Minor
Planet after

2658 a8 ) (BP0 &Joémgécﬁr ol forenEd Sogvo T QB0 50
Options :

M.S Subbalakshmi
M.S fm:gegé

Hari Prasad Chaurasya
3B (pard Toedy

2. ®
Sonal Mansingh
Bard Sreaeoh
3. %
Pandit Jasraj
, %ol dues
4.9

Question Number : 31 Question Id : 7894846978 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Financial Action Task Force 15 based in
RS AIEES erh) §95) Solo a8l Both
Options :

Geneva
AT

Washington
0D



Paris

60
3. ¢

Rome
4, % 5553

Question Number : 32 Question Id : 7894846979 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Vovager 2 do not study one of the following planets
SchzEE 2 5 (Bod (KPD8 Homobodd HBESS Jcheh

Options :
Mercury

v DB

Jupiter
RN
(=%}

Neptune
SIS

Uranus

Suvelars

Question Number : 33 Question Id : 7894846980 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
First woman to walk in space 1s
BPEHS BEDE B Hoory

Options :

Svetalana Savitsakaya

EREE arseEudh
L TR TESE

Jesica Meir

200 20m:b



Christina Koch
B 885

3. %

Valentina Tereshkova

HBDTe B08E
R R

Question Number : 34 Question Id : 7894846981 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
“Gottiprolu™ 1s in the news recently because
Fré(gren B8 Homohod e’ ODoH
Options :

Human settlements were discovered
{reHd essraren ERPH0E5D

1.v
Uranium reserves were discovered
) 50800 Jgaren EHPSE2E59
Skeletal remains of a Dinosaur discoverad
.- ooED @) oddaren EoPins5D
Both (a) and (b)
R (o)) S0Bcim (B)

Question Number : 35 Question Id : 7894846982 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Shaala Darpan Portal is of
Giloliate )] @ﬁgﬁ B8 H020B0DHE

Options :
UGC

Ll



Navodava Schools
RS alevy) Svlay

Agricultural University
SgBarah DEDmegeciTen

3. %
Banks
eavéegm
4. %

Question Number : 36 Question Id : 7894846983 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Hornbill Festival is associated with one of the following states
SHAS Hothis S Dﬁ@[ﬂﬁﬁ Ho2oboddE
Options :

Mamipur
Hodrb

Tripura
@55

Meghalaya
SHZredh

Nagaland

o
L rreroh

Question Number : 37 Question Id : 7894846984 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“Tetralogy™ 1s a study of
Bigred HAY Clnidersin’el 35308

Options :



Birth defects

- @mﬁég‘ﬁ Slajfety Hiaren

Weeds
Sensd Jnen

Micro Organisms

o iy =

.- mgéw@m
Fishes
g
4% S%en

Question Number : 38 Question Id : 7894846985 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Cereals belong to the family
graegen( Cereals ) €6 £xén0erd8 306

Options :
Apiaceae

% ETAlorhuralony
Caesalpinaceae
550\

2. % %
Graminae

3 v P83
Solanaceae
Serrehab

4. %

Question Number : 39 Question Id : 7894846986 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“Satyameva Jayate”, contained in the national emblem. is derived from
getes eedoh ﬁaﬁ?&oéﬁ&- 'ﬁéﬁﬁaé 20D8" B 08 Holitromh



Options :

Kena Upanishad
B8 &5058

Katha Upamishad
Spr 63050

2.
Aitareya Upanishad
0E00% &8558
3. %
Mundaka Upanishad
_ swoitE &505
4.9 =4

Question Number : 40 Question Id : 7894846987 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Great Indian Bustard is a as per International Union for Conservation of
Nature (IUCN)
@Oéﬂ;@dﬂ) 5B DOBEes DB Hse0 2 L =€) (Great Indian Bustard)

Options :
Extinct

% wosbodefond =08
Critically Endangered

-~ HHorr ©08B00EFHT) =8
Endangered
2088088 =

3. % i
Vulnerable

. ©208580PHr08 edsrEing) s
4,

Teaching Aptitude



Section Id : 789484211

Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 789484258
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7894846988 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Main purpose of giving home work 1s that the students.
=08 5 aé&tﬁo fﬁwé& Esini) éééﬁ@, S]ma‘s%)m
Options :

Remain busy at home
208 58 HE° D SoKerds

Study at home
308 HY SRS

Their progress can be enhanced
70 (N80 DosrobiodHg)

Develop the habit of self study
2RAH @IS @eareih DoSFoBOSENES

Question Number : 42 Question Id : 7894846989 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



On the basis of summative tests. a teacher is interpreting student’s
performance in term of their wellness life style evident in behaviour.
This will be called.

R0EOR suregold 5’35{%&} HBerer egrrdore, a.8 é%ﬂgﬂé@iﬂtﬁ] 3&{:}135?5{%&} cho¥)

95856 0Dod @Sﬁriéééﬁé 258 Ded Vapsdsn aeggrloseed) ser
By
Options :

Continuous and comprehensive evaluation
ABoSE [l sHrrersoBRam

1. %
Norm-referenced testing
et e

) (s383°ea eaggeBes még
Criterion-referenced testing.
= e

s B9 e’y &Ugﬂé espeDies ﬂéé
Formative testing.

Yen 4
L% Boesies mé’é

Question Number : 43 Question Id : 7894846990 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

To raise the achievement standards of students in education. it is necessary.
DS Do o Spowd) DoTEE eHHEDOH

Options :

To evaluate students continuously

L &’}mﬂ;{ﬁﬁge_} Hilslalsls’ E’)ﬁ“ﬁ%@géﬁﬁﬂ

To give high salary to teachers

- éarpaine ehforr deren afiio

To change curriculum
arEgHerdEdD (8bHeoth) srdhto



To construct good school building

o) aRbFPe Parael)) o) etntatary
4. %

Question Number : 44 Question Id : 7894846991 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A successful teacher 1s one who 1s:
Deschod DS Sarprioiniine :

Options :

Compassionate and disciplinarian

| DIEche Hboin [Eodgmiioart.
1.v

Quite and reactive
&°Rore Gotir ([DaSGed Sdathdart

Tolerant and dominating
DS des Hbcn ej@ééﬁﬁsﬁﬁsﬁ Hearetio.

Passive and active.
) Haore &otr SHhdhSbo Sraaeth

Question Number : 45 Question Id : 7894846992 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A Teacher’s major confribution towards the self-realization of the student
is affected through.
.8 DergB f}é{:{n oHTIrSs Dodrobostod? Gargrgaind Ssrsedo (Spedore

Be® GOENoH :
Options :

Constant fulfillment of the students’ needs

IS GSaTEOMN AD0SYoT Do aatdto
1. 8 (A e—r

Strict control of class-room activities
SBKSIG Bmged S8Hore ddbo@odto



Sensitivity to students’ needs, goals and purposes

s o Dergihe edoroih, Hirge, ﬁérgnég;@ @ggég«ﬂgﬁéég

Strict remforcement of academuc standards.

Doreglsierein N8N eihandddio
4. %

Question Number : 46 Question Id : 7894846993 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s correct with regard to relationship
between syllabus and curriculum?
DR0D (Herds ( Doan) 0B dorgEerds (E6Hesn) o iy Sonogel)y

XeDod $BH (HHSHo :
Options :

Syllabus 1s a part of curriculum

Ty
o

- DHCD [SeeEs E‘m@[}’.ﬁm@é@ﬁ ailale
LY

Curriculum 1s a part of syllabus
Ao (D8PS DHRCD SeDES® grifo

Syllabus is an annexure to curriculum
A (DerdE DogReertEs waodio

Curriculum is an annexure to syllabus
Seglerds DN0H (DErFEH eiheodio

Question Number : 47 Question Id : 7894846994 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The students who keep on asking questions in the class should be
E5588° E855m ESENSaY ©&0 Sf]cjf;séﬁg@é]

Options :



Encouraged to find answer independently
Sgobore SErgraren éc‘fﬁgﬁé‘cﬁﬁsﬂgﬂg 8P eroed

Advised to meet the teacher after the class
508 Hes domges Eﬁvmﬂécﬂnﬁj& EoRsoaed

Encouraged to continue questioning
w B o
DB odeeR) (EEaeroTd

Advised not to disturb during the lecture.
&R0 é}tﬁé@’s e382080 égoémtﬁﬁl o).

Question Number : 48 Question Id : 7894846995 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When a normal student behaves in an erratic manner in the class. vou would.
.t ﬁvmﬂémg}mﬂgg 518 KBS eFprdn [HHGHH Sbad855% i 3@@30& :

Options :

Pull up the student then and there
@?”.gaé? @ééé &]mggﬁ} 206 Hoddo

Talk to the student after the class

$518 Soxd DodE ErepBLsD
2.¥

Ask the student to leave the class
&3 d‘jm“é%gj Etelats &)&&Bﬁ@éﬁdo

Ignore the student.
o Doegdi é@ofﬁ;gﬁéﬁ?’ﬁaﬁdo

Question Number : 49 Question Id : 7894846996 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



A teacher’s most important challenge is :
2.8 dargeydint (DHordore &Jtijﬁ“gﬂ QHaren !

Options :

To make students do their home work
Elmogéﬁg@é =085 DovosSEo

1. %

To make teaching-learning process enjovable

| SPsaresos @Bh wiEssso Sabto
2.

To maintain discipline in the class room
Etelat: Walalan Bandgeecn Jofento

3. %

To prepare the question paper
(BB Sasrdh dehto

4, %

Question Number : 50 Question Id : 7894846997 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Maximum participation of students is possible in teaching learning
though:
eﬁﬁfﬁnﬂaiagﬁé L{J@dﬁ)é’a é']csﬂgiﬂg@ wﬁﬁfﬁé}gﬁj& BN 30 aﬁcge‘:a :

Options :

Discussion method
SRl LR TAT L
woR

Lecture method
éﬁ}aﬁg’é ég@

Use of Audio-visual aids
&5 -85es Hesorsbore DDBrKo

Activity based method.

w é@@gmﬁﬁ s.”:ucg@



Mathematics

Section Id : 789484212
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
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Question Number : 51 Question Id : 7894846998 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

d" cos(ax+5H)
ax”

Options :

i fax+b nx)
a cos[ == | :
> >

L5 —

n+l

o cos

.

T
ﬂl’+b+L).
s

2

i nmwT
a cos| ax+b+—|.

ol

L)
Q
W

o ax+b nm)
_|_

[ ]
b, e

i

Question Number : 52 Question Id : 7894846999 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

n_.,

It y=sinax+cosax Then ﬁ =
dx

Options :

a"\/{l +(—1)" sin Efrr}
1.

a”\/{l +(—=1)"sin nx}

b | =

o

J{l +({—1)"s1n Eax}

1
a? \f{1+(—1}” sin ;“-’.m'}

Question Number : 53 Question Id : 7894847000 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

-

; . ﬂ,?— i L’.‘T Z
If v=sm(smx) Then 1 PO mr L
ax” ax
L P - dy dy
1 =sin(sinx) ©oNDYLD D 4 tan v 2 =
dx” dx
Options :
¥y cosTx
1. #
.
1T Cos X
2. %
,
1 COS”™ X

3. %



Question Number : 54 Question Id : 7894847001 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Expansion of log(sinx) in powers of (x—2) 1s
i PrARNLY 4 e : “
(x—2) Gw¥) e st log(sin x) D3Bes
Options :

log(sinx) =log(smn2)+(x—2)cot 2+ (x— 2)2 (—cos ec’ 2)+...

1. %
Pl ] (3'_2.}2 ey
log(sinx) =log(sin2)+(x—2)cot 2+ T(— cosec 2)+...
2. ¢
. log(sin2) (x—2)cot2 (x—2)° 5
log(sinx)=—— ) L ) ( ) (—cosec” 2)+...
: E 3
3. %
. log(sin2) (x—2)cot2 (x—2)° )
log(sinx) =—=— ) + ( ) + ( ) (—cosec” 2)+...
3 2 E
4. %

Question Number : 55 Question Id : 7894847002 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Coefficient of x* in the expansion of

y=(sin” x)* 1 powers of x .

y=(sin"2)’® x G sreeed® 988008HH x* Go¥) thesto

Options :



r.\).lll—"

1.
1
x4
1
3% 0
t
sn O

Question Number : 56 Question Id : 7894847003 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The radius of curvature (p)of the curve » =8sin@+6coséd at g~
)

gzg S8 7 =8sin@+6cosd on SR8 S T80 (p) =

Options :

10

1. ®

Question Number : 57 Question Id : 7894847004 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1
lim(cos x)®=* =

x—={




Options :

Question Number : 58 Question Id : 7894847005 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If 7(x, 1}-10&( J then f,(2.D)+/f,(2.1) =

Xy

R S
f{x.j'}zlag(ﬂJ LoNRYD ﬁ{21)+ﬁ(21)

¥

Options :

3
1. v .

7
2. % *

3
3. % “t

1
4, ® 4

Question Number : 59 Question Id : 7894847006 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
The radius of curvature of the curve  v=x"—6x+8 at P (5.3) 1s
' = - —OX A 5 ~
y=X"—06r+8 SR8 P (5, 3) $& S amgrgsm

Options :

1212
5

Question Number : 60 Question Id : 7894847007 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If f(x.y)=xcosy+e'siny, x=#+1 y=f+f then a at 1=0 is

ar
o ; 3 d
flx.p)=xcosy+e’siny, x=t+1, y=r + consden, 1=0 355 Ff
ar

Qenad
Options :

3e
1. %
2v €

2e



de

Question Number : 61 Question Id : 7894847008 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
—_ ) 5y b _ .
The minimum value of f(x.y)=xy+—+— (0>0) is
s A

Flx»)=xy +E)— +£J— (b>0) Gog) 8
X ¥

eV

G'_E A

Options :

L..u|'::-'

Question Number : 62 Question Id : 7894847009 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

; _15 x +-]; | A A
If u=5im' | then x 2% . 5 2% =

L. x+y. )

& &y
4 NERTIR k|
e ¥ . =
0= Sin"| — | oo 2L 4y du _
X+ ) &x © oy
Options :
| % 4 tan 2
tan &/

2. ®



3 2 tan it

4w Stanu

Question Number : 63 Question Id : 7894847010 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1
lin[} (tan K)* =

X—
Options :

i |
1. ¢

[oad | bt

#®
o | =

Question Number : 64 Question Id : 7894847011 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The asymptotes of the curve x’ —y" —3axy=01s

X =1 —3axy=0 o3 Sio (533317 @E’aoéﬁuy’.ﬁ%ﬂa}

Options :
x—y—a=0
1. % ’
x+v=0
2. %
x+y—a=0

3. %



x+y+a=0
4.

Question Number : 65 Question Id : 7894847012 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

lim [l— : ] =

x>0 x e" —1

Options :

1
4

o
#
|

b | =

Question Number : 66 Question Id : 7894847013 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

dv _ 4x+6y+5
dx 3y+2x+4

The general solution of the differential equation 15

dv _ 4x+6y+5
dx 3y+2x+4

o0 odkad HiEsms) b, RSS
Options :
7 .
3y —6x + = log(16x+24y+23)=C

9 :
3y —6x +— log(16x+24y+23)=C
2. &



3v+6x +% log(l6x+24y+23)=C

7
3y +6x+— logl6x+24y+23)=C
4, %

Question Number : 67 Question Id : 7894847014 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The general solution of the differential equation
2xydx+(x" +Ddy =0 is
2xvex+(x° +1)dy =0 o3 edked H8snsy Jogrte JrEH

(Here ‘¢’ 1s an arbitrary constant)
BB ‘¢ el oirt)E adoed
e ]

Options :

j‘(.ﬂ;: +1)=c

1LV

vx+1)=c
2. %

Yix+=¢
3. %

2 ¥

Vo +x =c

4, %

Question Number : 68 Question Id : 7894847015 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



dy x+2y-3

— = 1S
dx 2x+y-3

The general solution of differential equation

dy x+2y—3 -
e : o @led HnEsnd Jortt apiH
dc 2x+y-3

Options :

Clx—y)* =2
1. #

Clx+yY=x—3-2
2. %

Clix—y)Y =x+y=2
3.¢

Clx+y)Y =x—y+2
4. %

Question Number : 69 Question Id : 7894847016 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
dx dy dz

A solation of —=—=——5———- s
y x (@@ -y)

dx dy dz
— == ¥y 2.8 T

I S
¥y X xzx-y)

Options :

-2
(P’ =—x%cC



Question Number : 70 Question Id : 7894847017 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The solution of the total differential equation
a dy d=z

x(y—z2) yiz—x) F Z(x—¥)

a — av d= et 5 o

xy—=) y{:t—x} - z(x— )

Options :

£=C1, X+ Y—E=A
L% 7

xv=0C,x+y—z=0C,
2. % )

Sl

vz =0, x—y—z=0C,
3. %

W= Xt pEz=6
4.9

Question Number : 71 Question Id : 7894847018 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The solution of sin pxcos y=cos pxsin v+ p, where = ? 18
X
P =? &0, SII1 PYCOS V= COS PYsin y+ p GnE), S
X
Options :

A
y=—++s1n v
X



] P A ¥
y=Cx"+smC

y=Cx—sin"(C)

+sinC

.-L:L —

2

Question Number : 72 Question Id : 7894847019 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The general solution of the differential equation
" ay
v+py=x'p*. (where p=—) is
ax
4.3 = dy
Y+ px=x"p", o edbad $Esns Froedn FES (=55 P = d'_)
N

(Here ‘c’ is an arbifrary constant)
oy = o S

Options :

2
xX+cv=c"-

1 ®

xyEe=e'x
2.

YEEE=%"
3. %

y+x=cx
4. %

Question Number : 73 Question Id : 7894847020 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The general solution of the differential equation
ve¥dy 4+ (xe™ +21)dv =0 18
ve¥dy+ (xe® +21)dy =0 o3 odten HEsns) Jerdes RS

(Here “c’ 1s an arbitrary constant)
4 . * 3 w o
=G O 2l SRS BB

Options :

e¥ +y=c
1. % '

e Exee
2. %

e +x" =c
3. %

.

e =

4.9 *

Question Number : 74 Question Id : 7894847021 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The general solution of the differential equation

dav ;
——+ YCOSX =SINXCOSX g
ax

dy .
E*’ VCOSX =SINXCOSX e edfed DenEdms) Jrgedes arsd

(Here “¢’ 1s an arbifrary constant)
BB ¢’ a8 ArdihE %}émﬂ%
Options :

y=(sinx—1)+ce ™
1v



y=(cosx—1)+ ce™nx

v=(cosx+1)+ce™"

—COsXY

y=(cosx+1)+ce

Question Number : 75 Question Id : 7894847022 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1 2 _
F e COosx —

d
H D=—
(Here o )

i D:i)
(ﬁ@f Cdx

Options :

e* cosx

'Jll'—"

Question Number : 76 Question Id : 7894847023 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The general solution of the differential equation
(.1'2D2 —aD+2) y=X log x is

- [
(Here D= d:\')

(X’D* —xD+2) y= xlogx o wsdes $&Edes Frerde s
/
%€ D=2
(=8) n?_1_)
Options :

1 =x"[¢, cos(log ¥)+ ¢, sinflog x)] + log x

1. ®

v =x"[¢, cos(logx) +c, sin(log x)] + 2log x
2. %

1 =¢, cos(log x) + ¢, sin(log x) + x° log x
3. %

v =alq cos(logx) + ¢, sim(logx)]+xlogx
4. &

Question Number : 77 Question Id : 7894847024 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The general solution of the differential equation

(x+ 1}ﬁ +1=2e
v

dy g
(x+ I)E +1=2e" o wndes HirEsng Fode F55

(Here ‘¢’ is an arbitrary constant)
=B ‘T s cﬁjﬂﬁée\)iﬁdé ?grﬂt}ﬁ%

Options :

e(x+1)=2x+c¢
1.V



e’ (x+1)=2x+c¢
e (yv+1)=2v+c

e*(y+)=y+c
4. %

Question Number : 78 Question Id : 7894847025 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
1 2

d
Her D)=
(Here nfx)

_d
(=505 D :E)

Options :

i 5 §

Question Number : 79 Question Id : 7894847026 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The general solution of the differential equation
(D*+4D* +D—6)y=0 is

pere D=0
(where D= o~

(D*+4D* +D—6)y =0 o3 es8es 550886 Foede P65
d
o

(2855 D= e

Options :
TP X —2'x :‘—_:':.T
- Y= e +c,e8  +65€

_ —X —x —3x
Y= {’1{5’ +{’2€ +C'3é?

2. %
y=ce +c,e +c,e”
3. %
e X =2x 3x
y= e +c e +oe
4. %

Question Number : 80 Question Id : 7894847027 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(Here =

d
éﬂ o o

Options :

| A
;{5111 2x+3cos2x)

1. ®



1 :
—(3sm 2x+cos 2Xx)
25

2. ®

|
—(sin 2x +cos 2x)
25

=
:;_q(l sin 2x +¢os 2x)

4.9

Question Number : 81 Question Id : 7894847028 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The partial differential equation obtained by eliminating the arbitrary
2 2y .
function f from z=f(x"+3¥7) is

z=f(x*+31") 09 cimes)

8 @ababo [ B Sposdabre oo
RS esad vH¥soo

Z oz
(Here P =i ~r—)
én
« iz ‘ oz
rau& o p C_?-\_ J 5_‘
Options :
yvg+xp=0
1. ®
2ip—xqg=0
3vp—xqg=0
3.¥
Wwpw+xqg=0
4. %

Question Number : 82 Question Id : 7894847029 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Find the general solution of partial differential equation
GB-2y)p+x(2z-1) g=2x(y—-3)

Options :

Yy +6y+z°+z, x —2°—6y)=0
1.8

Py +6y+z7—z x =z +6y)=0
2. %

-

Py —6y—z’+z x'—2°—-6y)=0
3. %

?5(.1-'2 —6v —_gtgE. XShE S 6y)=0
4.

Question Number : 83 Question Id : 7894847030 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The complete integral of the partial differential equation
pzqupw qgy—z)=2
Pq (px+qy—2)=2 o ar8E ostes $Dstno @nt) Sorg SErEed

- 1

Here B e o iy
( B
e cz cz
gt P = _-— 4d~=—_—
G ox 55 %
Options :

z=ax+by’ +2a’b’
1 ®

2

z=ax+byv — ——
a-h*



—ax” +by—2a’b’

|

-
a’b?

]

| )
=ax” +by +

Question Number : 84 Question Id : 7894847031 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1 o 20 LA
(D428
c c
(where D=— . D'=—)
ox ey
=T
Options :
2 ;
E.x+3_)
25
L%
i e.x+2‘1-'
2. ® -
+ o5 +2¥
3 % 25
4 25

Question Number : 85 Question Id : 7894847032 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



1

m Cos (,1;'-1-2_1,')

(where b=—_. D'=

c
x

9o

B8
Options :

1
< cos (x+2y)

cos(x+2y)

sin(x+2y)

1
3 cos (x+2y)

Question Number : 86 Question Id : 7894847033 Question Type : MCQ Option Shuffling

Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

4+3S -
If S;=1 and L= A, for all nel . then lim 5, =
3+ ESH n—x
== o i 4+ 35 o : _
S; =1 %80 (58 nelN & 5§, | =———"7 wapdHtd ImS, =
308, ——

Options :

: No Display



NE

4.

Question Number : 87 Question Id : 7894847034 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a>1. lim F—‘; =

g il
a>1 eondge Ilm — =

n—= (g

Options :

1
1. ®

0
2.

-1
3. ®

1
4. % 4

Question Number : 88 Question Id : 7894847035 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. 1 1
lim = e ——
n—e 'Jlr.rH \[Eﬁ.‘+2 2n +n
Options :
1
1. #®
1
2. % -



Question Number : 89 Question Id : 7894847036 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following sequence 1s convergent ?

% 1808 88° @803 edidio H6?

Options :
Ly ra
§ = COS
3
1. ®
. Haed
3n+2
2.
s, =(—D".n
3. %
=AY w
4, %

Question Number : 90 Question Id : 7894847037 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Let 7:[a.b] —» R be a continuous function. Then

f:[a.b] > R 2% SEUAN HaboHo sondHd,

Options :



f 1s not Riemann integrable .
F B8RS Sdredabho st

£ 1s not uniformly continuous on [a. b]
o880 [a,b] 2 f 8, edi$o s

£ 1s uniformly continuous on [a , b]

wodbo [a,b] B f 285 0D eHEosd
3¢

£ 1s not uniformly continuous at atleast one point of [a. b].

oo [a,b] & £d%0 a8 Dothd DG [ EEPD 0IH0 oD
4. %

Question Number : 91 Question Id : 7894847038 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If # :[a.b] — R be differentiable on [a . b] where a < b and
f'(x)=0for allx €[a, b], then

a<b % 7 :[a,.b] > R &3 HBdhabo [a.b] 2 edbedsho ©H&H0sd
H0bcn (58 x€la,b] & ()20 ooandHd,

Options :

£ 1s increasing on [a. b]

[a.b] 2 f &8irmo ehdhob
1

f 1s decreasing on [a, b]
[a.D] 2 f os58%rno ofod

2. %

£ 1s not continuous on [a, b]
[a.b] 2 FeddHo s

3. %



£ 1s constant on [a, b]

[a.b] D f a8 Qo8 eHsod
4. ®

Question Number : 92 Question Id : 7894847039 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
- = 3 _
The series > ——— i
n=1 (;r:r +x )

e Y ——

= (H & xz )g E’Eﬁ}g}&]

Options :

Uniformly convergent for all X

358 X & 88r) @fd8mo Jothih
1V

Uniformly convergent for all x €[—1,1] only.
58 x e[—1.1] % 288rY @fddno ot

Uniformly convergent for all x =[0.1] only.
08 xe[0.1] £ B8RS @8h58mo 3otHin

Not Uniformly convergent
B8PS @880 3o

Question Number : 93 Question Id : 7894847040 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For x€[0.%]. let f,(x)= 1;_“ If f(x)=Hm £ (x), then f(x)=
X n—x
xe[0.7w] 88 f,(x0)= 1_}:1- 80w, Jf(x)=lm f, () eondss,
X I

J(x)=

Options :



8
=1

x#0
1. ®

[1. x=
f@=1_ -

2. ® :
e |

X =
J0) {1. x#0

3. % '

Oy o

4.4 '

Question Number : 94 Question Id : 7894847041 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

- . . 2. (2n)tz"
The radius of convergence of the power series > #
n=>0 L)
e o (2miz" -
DT3B ;}—(ﬁ : )2 8 e8ldtes a‘g%‘a—ga&n.

Options :
1

72

1. ®

Nll-—l



Question Number : 95 Question Id : 7894847042 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The radius of convergence of the power series
oo }_}3

7o
.= 15

7

=0 3

oo 3
Fl

Fl
St BB s ) eddde E“én%"g&/}]].

3 F
=0 3
Options :

-
s
1. ®

Y]

|

ba |

Question Number : 96 Question Id : 7894847043 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

{:}‘_‘lull—i

sin~'x dv =
Options :
% B
12 2
1.v



=t —1
sx 6 2

r 3
Lw 12 2

Question Number : 97 Question Id : 7894847044 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If P and P are partitions of [a.b]and Pc P and if 7 real valued
bounded function defined on [ a. b] then

wosbo [a.b] &8 P, P Dfmder ©d H0cw PC P «d&Haw [ a,b]
P N Dosnds S0y RS ey Hhabo 1 eonSH,

Options :

L TP .NH=<UE.f) & L(P s L(P.F)

b

-

UP.H=UP.f) & LP.HZLP.T)

2. ®

bl

UR.[)SUP.f) & LEP.ISLEF.[)

3. %

~

Lo U NSUPS) & LPSLE.S)

Question Number : 98 Question Id : 7894847045 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fora >0, Z =

e 1 i H‘)(L‘l’ +n+1)

1
0 l(a+n)a+n+l) )

[M]s

a >0 5,



Options :
1

.
1.v
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If #is Riemann integrable on [a . b], then

[a.b] o3 @o0880 2 r 65,8 Sirdedoho @i,

Options :

jl Jdx

a

-]
|/] is Riemann integrable and [| £ dx <
i

- ] b
/] B8 SErdedabo eHEod mbatn || dx < |[ fax
1. ® a a
| | is not Riemann integrable
|f| 8558 HEréeodcho s=tH
2. ®
b
| £ is Riemann integrable and || fdx| < j:| 7| dx
b 5
|f] 85508 Sxmgodaho eEod Hodn ([ fix| < [| 7] dX
3.¢ : a




b b
/] is Riemann integrable and [| £ dx = - [ fax

& b
|f| 658 BEredcho wiEos Hbckn I|f| X = -jfdx
4. % a 4
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d+h
If : R—R bea continuous function, then E{}}i _f f(Hdr =
1

4—h

4+h

F i RoR a8 ol Hababhsoons, l_i1:ﬂl | f(Hde =
h—0 wi

T4
Options :

2@

1Lv

e 3@
L 4O

L w AT
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Which of the following 1s a monotonic sequence?

& |8ob BHE DEBZ (B0 2B ?

Options :
P, —n%
1. ®
_1 n
s



X ==

3. G
15 F oA

X, _{_l}

Question Number : 102 Question Id : 7894847049 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

- 1
The serie: ——
1€ series ; 7 —

o 1

n=3 H(]-Dg H }}J

BB

Options :

converges if p <1 and diverges for p=1.
P <1 @008 @dd6:n0b Hbctn pxl1 % obhidhob.

convergent if p>1 and divergent for 0< p <1

, p>1 0008 ©58:508 HB 0<p<l  ©5H6508.
2‘

convergent if p = 0 and divergent for p <0
>0 ©ons ©d56:000 HBon p<0 & e556508.

i 1 ; ’ 1
convergent if p= = and divergent for p < S

P'xi
4. % 2

i
—

©ond ©fh508 HHbcH p < %ﬁam‘:é ©200%0080
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The ‘¢’ value of Cauchy’s mean value theorem for the functions
f)=x",gx)=x in[l.2]

[1.2] wostos® f(X)=x". g(x)=¥ o3 SHhosredH &5 i
soTex ?omaoe?_i;’g} ‘T Dend
Options :
4
Lv ?

®
[am—
I

had
%
o |5

WO

b
[y
L)
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A non-commutative group has atleast elements.

DVHGHEE Shriros® Bod 898 dresee Sogy;

Options :



Question Number : 105 Question Id

: 7894847052 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of generators

of a cyclic group of order 367

36 & s8rarr 503 Sdch HSarsro SooZ) IS OO VoYY

Options :

10

1. ®

12

2.¥

Question Number : 106 Question Id

: 7894847053 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of binary operations defined on a set containing ‘n’

elements 1s

N’ Sresren 503 & Vb DoBGN chorf DoEche JSogy

Options :

Question Number : 107 Question Id

: 7894847054 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If # and K are normal subgroups of G with H <K and if

K &
P="—and S=—, then
H H

HaK eHdr H, Ko G & wdeoon a5 Hbam

K G
P=_ § S B %08, ®fHH

H Ll
Options :

S G ; ;
—and 7 are 1somorphic

S G

— B8cin — en Hegtraren
1V £

K G : :
— and — are isomorphic
H H
X s8on £ e Hegirares
2. % 2

K G ; c
- and 5 are isomorphic

£ 5000 < en doextraren
3 % ¥ 52 S

£ and % are isomorphic
£5536c35)3 & en hextiraren
4., ® 2
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Let G be a finite abelian group and H. K are any two subgroups of
G with |H|=14, |[K]=25. Then |HK]|=
G 28 H05neE HAFah JFHrd, H. Ken G @n) eabgordtod s8akn
|H|=14, |K|=25 o880 . 0 |HK|=

Options :

o 350

L % 250

150

3. %

L% 450

Question Number : 109 Question Id : 7894847056 Question Type : MCQ Option Shuffling : No Display
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Which of the following is not a group under usual multiplication.

&% |Bob B Jprde Heseto B)aks Seorsro 20

Options :
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The number of homomorphisms from the group (Z, +y)

to the group (Z,,, +y) is.

(Zigg, +3) @& Hdrse0 S008 (L. typ) SHEOS
Ko Sihdrhde Sogy
Options :
5

1. ®

20 10

Question Number : 111 Question Id : 7894847058 Question Type : MCQ Option Shuffling : No Display
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Which of the following statements is true?
& (Bob HdSTed® b &8sam 7
Options :

e |S5| = 100

o b0

Everv abelian group 1s cyclic.
(58 DVHoh Hdrdro Sdabo eHHob.

A, is a normal subgroups of S,

Lo S, $% Ay 2.8 odeoon &I55TSF0 ©HH0B.

Question Number : 112 Question Id : 7894847059 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let S, denote the symmetric group on 9 symbols and & € 5, .

Ifar=(1354)(26)(798). then the order of & 1is
9 HoSered FHD DBl S Grdkosd b @ €S, o ek K.
=(1354)(26)(798) wondshth & @Bod) SBKS

Options :

12
1.V

) % 24

Question Number : 113 Question Id : 7894847060 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0
Let G={£1. =7, £ J, +k} be the quaternion group and let Z be

centre of G. Then
G={xl, 7, Tj. +k}H SHire Sdrdror HBH Z
G g Sol$dur eHEdn. oNdh

Options :
Z 1s not normal in G

L% G & 7 edeomo =%

1s abelian group

2 2DDEHS HEriro @dHod

NIQ NG



is not Abelian group

2,8 aDBoHS BHrdo 2%

NIQ N|Q

1s not a group

el Paeieo s°thH

NIQ NG
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Let G, H be any two groups and ¢:G— H be a homomorphism.

If e, &' bethe identities of G, H respectively. then which of the

following statements is false?.
G, H e0 939 Botdh Hdmmsfed, ¢:6—H a8 H5585r58 o)) edshd.

e. e o ZBGr G, H o & $85rois ol & Bob [@Hhswos?

) 0958050 ?

Options :
Ker ¢ 1is not a subgroups of G .
., Ke P G 8 a8 addsrdro 5o

# (@©)=¢
2. ®

@ (a”) = (@(a))” forallnen
@ (a™) _ (‘?f’(ﬂ))"flhﬁ@ neN%
3. %

image of @ is a subgroup of #
, @ ) $8omo, HH a8 55550 @508,

Question Number : 115 Question Id : 7894847062 Question Type : MCQ Option Shuffling : No Display
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The characteristic of ring (Q.+.-) 1s
Hoaho (0, +,-)dnE) egdto

Options :
a prime number

| % a8 (e Sogy

a composite number
a8 Doding Hogy

Question Number : 116 Question Id : 7894847063 Question Type : MCQ Option Shuffling : No Display
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Which of the following is a prime ideal in the ring (Z.+.-) ?
& (BoB B, (Z.+.) o3 S00id8 ogray @tiEn 287?
Options :

= (64, +, +)

) % (8%, +, +)

- (T2, +, +)

L w O+ )
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The number of elements in the symmetric group 5, whose order is 3 is
& TS Sdrsro S, 6° 3 D SKare Ko Srese Sogy

Options :
L= 14

Question Number : 118 Question Id : 7894847065 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the polynomial ring Z,[x], if f(x) = 1+2x+2x%, g(x)= 3x+2%°,
then f(x). g(x)=

pEmde Secho Z[x] & f(x)=1+2x+2x", g(x)= 3r+2r’
oD f(x). glx)=

Options :

343t 44y
1LV

5 % x43x7 +4x

3 % 3x+xi+ 4

r+x 4y
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Correct Marks : 1 Wrong Marks : 0



Which of the following statements is true ?.
& (808 (PIHTres”® DB S&Hn?
Options :

(Z. +, -)isanideal in (Q0.+ )
- (Q +_.) E:Sucﬁscﬁa (52; - .}&g 5@@@&0&

U={0, 2. 4} is an ideal in the ring (Z,, +. )
L, 5090 (Zg + )& U={0, 2. 4 o8 otiggsos.
(0.+.-) isanideal in (R, + -)
. R+ ) S0aHoe® (0. +.-) o8 6iHHos.
3.

(B, +. -) 1sanidealin (C. + -)
C, + -) Sochos® (R, + )28 6igdsos.

4. %
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Correct Marks : 1 Wrong Marks : 0

The multiplicative inverse of f(x)=2x+1 in the ring Z ,[x] is

Z,x] 63 Soabos® f(x)=2x+] awy) iHes 96%50

Options :

L = 3x+1
, % X+3

3 % x+2

o
L 2x+1

Question Number : 121 Question Id : 7894847068 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0
The number of generators in an infinite cyclic group is

o508 SBoH S5H8 w58 Sorose FS{el:Vy
Options :

1.331

2
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a ~ 2 2 2 .
The maximum value of xvzwhen x" +v +z" =9 s

X4 427 =9 eowsdd xvz @nd) H0g Deod

Options :

1. # 5'\/5
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Let G be a cyclic group of order 120 with G = (@) . Then which of the
following 1s a generator of G?

120 D S858me E8S SiBch Jdrdrodn G . Hbcw 6= (a) okelod.
o, % Bod 8% G 8 DB =¥ Hredo ®HHod?
Options :

13
v d

15
). w d

10
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Correct Marks : 1 Wrong Marks : 0

Which of the following is a multiple root of x’ —x"—x+1=0

& (8od S ¥ —xX —x+1=0 5% VS0 DB?

Options :
L x=—]
, w X=1
3. % x=2
o =

Question Number : 125 Question Id : 7894847072 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0



The fixed points of the function f(x) = x> —42 are

fx)=x" 42 3 Hhovo 26DotHiHe
Options :

L, 7.6

. -6.7

-6, -7

3. %

6,7

4. %
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Which of the following is an iterative formula to find the inverse
square root of b €N using Newton — Raphson method?

Spfos PN BEED be N o) DHPore ag@HErRy
BTImeRs adarnod PIDE dr@o & (Bod =HS° D67
Options :
Xps1 = Xy 3 _bxn)
X

X 2
) In+1 - ?ﬁ!{3 _bxn)
2. 2

X =x_;(4—bxj)
3. ®

X 5
X, =—(4+bx,)
4, % 3

Question Number : 127 Question Id : 7894847074 Question Type : MCQ Option Shuffling : No Display



Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The convergence rate of Regula falsi method
Biiger- 0 HPE W) ©PH8e T
Options :

1. ¢ I

2. % 4

Question Number : 128 Question Id : 7894847075 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The interval in which the root of the equation
F(x) =2 43 +2x+5=0 lies is
F(x) =2 +3x° +2x+5=0 &3 358805 oo SEdo
@o'foa ©oSB0

Options :
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If F(x)= % then the divided difference fla. »] =

L) = Lj oSN Jrad PSo fla. b] =
X

Options :
a—+ b
a’b’

1.V

a—b
ab

Question Number : 130 Question Id : 7894847077 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0
Let V be the backward difference operator. Then for » = 2, Vi(x,) =
V 885508 38 50585 £r0080 ot iin. o3 n=2, 3B
V3 (x,) =

Options :

‘Tn—l —3}:” 2 +X

1

X, ,—X, . —X

n=2 i | H

" il

il TH-

1 X,

X =2% aqFxX 5
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The Lagrange linear interpolating polynomial which fits the following
data

& (B0ob Szomed) Somrlod Birrof BPHH ©osTER DTN

X 1 3
fix) -2 4
Options :
| fix) =7-x
fix) =3x-5
2. ¢
\ W fix) =x-3
fix) =10-2 x
4, %
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2
; : _ r 1
Using trapezoidal rule with h=1, j iz =
0

14-x
.
h=1 & Sbeoon Sy IrER) STFNSHD | —— dx =
)1+
Options :
19
6
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Which of the following sets is not a basis of the vector space R*(RR)?
& (8ol 3OS SMbed® Somodoeto RI(R) 5% oo =08 587
Options :
B = {(1,0,0). (1,2.0), (12.3)}

1. ®

B, = {(1.2,3). (3.4.5). (6.8,10)}
2.

B, ={@1,2,0), (0,2,3), (3,0,2)}

B,= {(1,2,3), (0.1,2), (0,0,1)}

4, %

Question Number : 134 Question Id : 7894847081 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If(20,6.3)=a(2,3.0)+b(5,0.0)+c (1,2,3)then(a.b, c)=

(20,6,3)=2a(2,3.0)+b (5,0,0) +c (1,2, 3) wowsHH (a, b, €) =

Options :
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a-b—c 2a 2a
2b b—c—a 2 | =
2c 2c c—a—b
Options :

L (a+b—c)

3
- (@a+b+c)

e (a+b+c)

" (a+b+c)’

Question Number : 136 Question Id : 7894847083 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0

Which of the following is a subspace to the vector space R? (R)?

% (Bod BS° DB, JSsToSTEo R’ (R) 5% adrodoefo eoa?

Options :



W= {(a,b,cf)E]R3 s’ai:(]}

], %
W= {(a.b.c)eR’/b=a’}
2.
W= {((Lb,(‘)ERgfﬁEﬂ}
3. %
W= {(ﬂ.b._(‘)Eijﬁ+35=C}
4.9

Question Number : 137 Question Id : 7894847084 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0
Let 7 =1{(0,5,0)/yeR}; W,={(x.0,0)/xeR} then w;uwm,

7 ={0.5,0/yeR}; W,={(x,0,0)/xeR} woxsin wUW,

Options :
1s not a subspace of 7;(R)
7 (R) 3% éarodoego soth

is a subspace of 77 (R)
7, ([R) 3% sarodorgo wi)éod

is a subspace of 7, (Q)
7, () S5 earodoedo @hod

is a subspace of 7, (C)
() 3% aarodordo ©)éod
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1T 2 3 4
; 2 o 4 5
The rank of the matrix A=
7 11 15 19
9 15 21 27
1. 2 3 4
2 3 4 5
O3 Ir@8 awy) 5°@ 4=
7 11 15 19
5 21 27
Options :
1. % 1
2. % 3
3. % 4
s 2

Question Number : 139 Question Id : 7894847086 Question Type : MCQ Option Shuffling : No Display
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Let T: R*(R)—R’(R) be a linear transformation defined by
T(x,v) =(x +y, x-y y). Then the dimension of the range space of T is

T: R*R) 5> R(R) oF awm H058:5:0
Ty =ty x-y y) m o oHSH 2o H0585 T
o) aedy HOPeaaln.

Options :
1. % 4
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Correct Marks : 1 Wrong Marks : 0
Let T: R*(R)—>R*(R) be a linear transformation defined by

T(x,y,2) = (0, x ) forall (x, y, 2) €R°(R). Then the dimension of the
null space of 772 1is

T: R°R) >R’(R) o aver $05858 T (x, 3, 2) = (0, x, y)
8 (v, 3, 2) ER'(R) $% re Dometh. oo 72w Sromodoetd
DO

Options :
2

1.V

Question Number : 141 Question Id : 7894847088 Question Type : MCQ Option Shuffling : No Display
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If the mapping T: R’ - R’ defined by T (x, , 2) = (x|.0), then Tisa
Edcho T: B 5R & T 2) = (2.0) e 80008555 T o

Options :

a linear transformation if y=z=0.

y=7=0 w©ond zner HB5LS oHitod.
1. ®



a linear transformation if z=0.

7> 0 wondith .l ey D85S wiHEob.
2. ®

a linear transformation.
a8 awer HBHBN eihEod.

not a linear transformation.

ey wbHSH =eh.
4. & =

Question Number : 142 Question Id : 7894847089 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Let T: R*(R)— R*(R) be the linear transformation defined by
T, v,2)=0CBx+2y-4z, x-5y-3z).

Then the matrix of T with respect to the bases

B, = {1,111, (1.1,0), 1,0,0)} of R*(®)

and B,= {(1.0), (0.1)} of R*(R) is

T: RRR)>R(R) oI aner H05855
T(x,» 2)=0Cx+2y-4z, x-5y-3z) re AdDoze.
B,= {(1.1.1), (1,1,0), 1,0.0)} 50805

B,= {(1,0), (0.1} ex R*(R) 3&Hdre R (R), R*(R)
©5) SEPUREN oW 5 Sprore) é&% T o) r@8

Options :

i B 3
=
1 5 3
]

1. ®

2.
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If characteristic roots of a 2x2 matrix A are 1. 2 and if
A" =ad+plthen («. B) =

A o3 a8 2x2 SmBE nE) erfes Denden 1.2 0B A =g+ g1
©ondD (a. B) =
Options :

22

Question Number : 144 Question Id : 7894847091 Question Type : MCQ Option Shuffling : No Display
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Correct Marks : 1 Wrong Marks : 0
If 3. 5. 2 are the characteristic values of a 3x3 matrix A then the

determuinant of the matrix A 1s.

af a3x3 Sr@8 A g erfhE Denden 3, 5, 2 oond, Ho8E
A a@w¥) JgedBo

Options :



) 30

; % 10

60

Question Number : 145 Question Id : 7894847092 Question Type : MCQ Option Shuffling : No Display
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The characteristic polynomial of the

i

(1. Z :2)
matrix A=\ 0 2 1/|1s
-1 2 2
(1 = 2
SPBE A= 0 2 1| o) erEhE 25008.
-1 2 2
Options :
5% +8x+4
1. #
453" —8x+4
2. ®

3 1 —57 +8v—4

X —6x —5x—3
4. ®
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A vector of unit length which 1s orthogonal to the vector (2. -3, 6)
with respect to standard inner product 1s

(S&es @080 Kars (2, -3,6) & eoore &0G Dseo¥ HHE

Options :

> [J% le_? _12?_]

[Sry

). % (Ej_?\%}

[—3 =2 —2']
" N7 i7" i
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Let V(E) be the vector space of polynomials with the inner product
1
defined by <f.g>=[f() g(t) dt. If f@)=x"+x-4, g(x)=x-1
o

then <f.g>=

1

af0dte Sbodordo V(R) 2 woddarty <f.g> - J*f(f} g(f) dt

m Doz, [(X)=x"+x-4, g(x)=x—1 wonsHtds <f,g>=

Options :

o
4

e
v 4
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b
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Let W(F) be an mnner product space and x.ye¥ . Then which of the

following statements is not true?
V(F) @oégerodorgo nBain x.y eV @iEim. @ & 5ob

55 Sedd D6 edeisdn ?

Options :
) | - /
o el S
<X, V> 2 |x :
- | iF. w00 | I [
sl =l =2 + 1517
3. %
2 2 2 2
oo e =+
4. &

Question Number : 149 Question Id : 7894847096 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let ¥V (F) be an mner product space and Sc ¥ . Then which of the
following 1s false ?

V(F) a8 @Oéé%@é?gﬁf\) Sc¥V ehEhsm. o

& |1Bob POSTes® 06 e9ede85ain?

Options :

oy =7
1. ¢



2. ®
S8 =10
. {0}
ScT=8 T
4, %
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Two vectors U and V are orthogonal if and only 1s

Goth HBBden U, V en efwoaornr 6ofcedd addE Ho%s dchino
Options :

-7 =|v|+|7
o W =0]

5

i 2
[,

2 L 2!
v =l -1

U+v[ =[]+

-

o+ 71" <[ -




